(B) &7 35 4R 18 (E) S 45 38310

BN cHAEIEA SERLELRES
WARSE BRI EAZAHILA 18
Y—ERRSE : LEMEEE - EENEXIEL S -HES (B4 : M)
B oE B B LEEFEN | IEEFEPB | #® FHNAN-06)
FREEC LB '
A
SEILA 47, 320, 000 47, 320, 000 0
SENA 47,320, 000 47,320, 000 0
EENA 6, 930, 000 819, 000 6, 111, 000
SHENA 6, 930, 000 819, 000 6, 111, 000
ZHAER Y SN A 3, 000 3, 000 0
TERIE L ST 1, 000 1, 000 0
R EE A B M S A 9, 000 9, 000 0
EEEFIAE (1) 54, 253, 000 48, 142, 000 6, 111, 000
=
ANEESTH 11, 085, 000 10, 071, 000 1, 014, 000
REMEE S H 3, 900, 000 3, 200, 000 700, 000
ANEEHEESTH 7, 185, 000 6, 871, 000 314, 000
EEETH 29, 839, 000 7,312,000 22,527,000
e TH 783, 000 442, 000 ’ 341, 000
B EE T H 14, 484, 000 0 14, 484, 000
REBEEREBESH 13, 984, 000 0 13, 984, 000
ZEEREBEREESH 500, 000 0 500, 000
HEEREMRES N 84, 000 51, 000 33, 000
MBS 84, 000 51, 000 33, 000
El R A 2 5 Y 2,583, 000 1, 396, 000 1, 187, 000
EEERELH 2, 151, 000 1, 952, 000 199, 000
SERETH 1, 346, 000 0 1, 346, 000
BRREESTH 20, 000 20, 000 0
JEHRE T H 1, 146, 000 1, 146, 000 0
LS EEEH 1, 146, 000 1, 146, 000 0
ENTAETH 2, 866, 000 1, 988, 000 878, 000
BREETH 2, 866, 000 1, 988, 000 878, 000
FEBH 152, 000 152, 000 0
RS H 4,213, 000 164, 000 4, 049, 000
PoER TN ) 3, 000 1, 000 2, 000
PR E T 8, 000 0 8, 000
EHREH 1, 270, 000 1,222,000 48, 000
REIREEH 1, 000 0 1, 000
EHEERESTH 314, 000 314, 000 0
HRE MBS H 314, 000 314, 000 0
FI il A 25 57 HY 450, 000 448, 000 2, 000
BEEBREE 272,000 257, 000 15, 000
SEETH 30, 000 0 30, 000
FHEEZH 122, 000 122, 000 0
&R H 56, 000 56, 000 0
A E ST 20, 000 20, 000 0
M7 5, 000 5,000 0
ST H 155, 000 155, 000 0
SHEETH 155, 000 155, 000 0
Bk 457 tH 17, 435, 000 14, 126, 000 3, 309, 000
B & 17, 435, 000 14, 126, 000 3, 309, 000
BHE&TH 1, 252, 000 1, 252, 000 0
EHEEAHEHESTH 1, 252, 000 1, 252, 000 0
T DD T H 0 740, 000] A 740, 000
ZDDTH 0 740, 000] A 740, 000
M H 0 740, 000] A 740, 000
EEEHTHE Q) 61,036, 000 34, 878, 000 26, 158, 000
FEEFHESICGEEA (3=1-2) A 6, 783, 000 13, 264, 000] A 20, 047, 000
Iy LY ed
YA
| M BB (4) 0 0 0
¥
l MR B S X HiEt () 0 0 0
iR BB N 3248 (6=4-5) 0 0 0
T DMDIEENT KB
A
| FOMDIEBILAEF () 0 0 0
%
TEEESH 2, 000 2, 000 0
ZDMDIESLBERSL T 2, 000 2, 000 0




_E‘ X 4 b2

=

(B)$% 3% 4R 18 (B) S 45 3A31AH

EAE CHEBUEA SELSELGES
WERAE CERREAESTILS y=]
H—ERRAE : SEMSEIE  EENERELY S -HES (BEfI : [)

B ® ¥ H HEEFEWN | IEEFEG | E BHNAN-0)

EEESBEITEERYTH 1, 000 1, 000 0
KERESB T BRI 1, 000 1, 000 0
Z DM DIEF HEF (8) 2, 000 2, 000 0
ZTOMDIEEHESINTEZE (9=7-3) AN 2,000 A 2, 000 0
FiEEZH (10 0 0 0
YIS ST EBEAE (11=3+6+9-10) JAN 6, 785, 000 13, 262, 000] A 20, 047, 000
AR ELERE (12) 48, 509, 000! 35, 247,000 13, 262, 000
milRZhES RS 48, 509, 000 35, 247,000 13, 262, 000
LR IESERE (11412 41, 724, 000 48, 509, 000] A 6, 785, 000




